|
|
|
/

Cevap Anahtarlan

e N
Q-G wzou -G ) [ q-g wsoun6 g\ [ Q- 6wk -g m @00 @O o@D
] ] ] ]
Ay WIsibUA - A-¥ 1924nq - A=y hosp -y | (B[ []ob [ [6] &[N [b]on[S)
A€ 625 -g | | A-€ uuaqnny -¢ | | Q-€ opsnd -¢ | (e [o|<[<[ofo]|<|[0]a)
Q-2 Iwozo -2 Q-2 wibuoAug -2 Q-2 upyaw -2 rm N R N B IS IV R B w\
A-1 zZIsJiqos - A-1 UISHD - A-T uIjowJDs - P N
\ , — ; , ﬂDABCCBDBCf_..
1yeq ng dviT) dviDi a.u@._>0w< dviDi vl ool O
apaveydnmn| —._ ‘o1 —_ 121U2Q LInddMeg : ‘6 —_ an JePdy ‘s — Fl—|am <100~ |0 o=
O mm— U mm—" o < ~
~ Vi< d|jLVIVImlOo|OL A.
0 ] ] (] ] ] [} ] (] | (@]
(F|—|~N|m <[00~ |o|on|=)
(Cla|o]|v|o|<|a]|o|a|<|=)
0 [} (] ] ] (] ] ] ' | o_
(F|=|a]|m | |in|0|~[o]|an|T)
— — — '4s) R
Q-G ouoyvAp ) ([ #g _sNz_o-mJ A-G ynAng g) i nw A. fw n_u r_, n_u nw A. r_, M
At Sm6 -y | | A¥ Swisig -y | | Q- pusa -y | \Elm|a|m|< o]0~ |00
A-€ 2WIpuay -¢ q-¢ wiziwgahay -¢ A-€ zisdalah -¢ \N Vin(<lo|la|lo|c|v|v A_)
Q-2 ooy -z | | Q-2 wokunp -z | | A-2 apsop -z | |10 4| [eh || [N |b]|]S)
Q-1 oud -1 | AT dpi -1 || QT ohsizoduoy -7 | (Plolalolal<[a]o]<[w[2)
; ——— r v)
...-mm._Dm> 12)91 n_<._.Hv_ nund Ng m(._.Hx e’un|o s1od n_<._.Hv_— KW. Gl |en 4.. 10 |0 -F © Q_; =
L — VIVaNSWAIH 9 : S | <
L — . .  — O o— | \2 ~\
~ DOV DOV VOV |
0 ] ] ] ] ] ] (] ] | 0—
Fl= o< 100~ o)
(Clo]al<]v|a|o]a|a]o|<)
ul, ' ] ] ] ] ' ] ' 0.
(F|—|~|m|s|0|0|~N|o]|on |5
>1W ‘ aJa|JIWap am/ q-g oJoqy! |MJ q-g __.U._Lonmc_ |MJ q-g _wunw_ |MJ
Av ap|I|1odaqoy -4 Q- Iu2anb -4 A¥ duidary -4 Acts suolo -4
A-€ 2p2|ays! -¢ q-€ _Lu_&_v_& -€ Q- jwiJgajo|woy -¢ Q- n4sndns -€
Q-2 DIAIBi|uDynGoS -7 A-2 DAIpJOA -2 Q-2 I|lawuzjaydn$ -2 Q-2 diuaau -2
Q-1 19242206 - A-1 UDwoZ -1 A-1 Nz -1 A-1 unzaw -7
, P — r— | —
Jofesy %5_ _ nibuea :3%_ _ il :%wu _ Newn0 19239ze0 :%.5
zobuerew ||t | an afvey)) — vyiepea 120 . ot t




